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Solutions

S1. Ans.(a)
Sol.
Quantity [ - SI = = 4800
~ Amount = 16000 + 4800 = 20800
2

Now, amount = 20800 X (1 + %)
= 20800 x = x 2

257 25
=26091.52 (Amount)
~ A-P=26091.52 - 20800
=5291.52
After four years, interest = 5291.52 + 4800
=10091.52.

Quantity II = Let the sum of money lent by Sumit to Mohit be Rs. x.
Then, simple interest paid by Mohit after 1 year

16000X%30

_ xXX5x%x1 _ S_x
T 100 ~ U100
Also, the simple interest received by Mohit from Birju after 1 year
_ xx%xl _ 17x
~ 100 5_ " 200" ,
Given: 2= + 350 = —
100 200
X _ 350
= — =
200
= 7x = 70000
= x = 10000

Thus, the sum of money lent by Sumit to Mohit is Rs. 10,000.
Quantity I > Quantity Il

S2. Ans.(a)



Sol. Probability of one red ball — %

Probability of one blue ball —» %

Let total no. of balls in the bag = 21

~Red—>7

Blue — 3

Yellow - 1

~ White - 21-(7+3+1)

=10

Quantity I — probability of selecting three white
0_9 8 12

1
Ball=—Xx —x— =
21 20 19 133

Quantity II = probability of selecting one yellow ball
1

T 21
~ Quantity [ > Quantity II

S3. Ans.(b)

Sol.

Quantity I

Let the v liters of acid were drawn off

2_4=(1_L)2

Quantity II
Cost price of Blended tea = % X 30.25
=275

N

2.5 25
1T 1

Amount'tea of Rs 25 per kg = 30 kg
Quantity I < Quantity II

S4. Ans.(a)

Sol.

Quantity I

Let C.P. of radio be ‘¥’
97.5x 107.5x

100 +100 100
= x = 1000

S.P. to get 12.5% gain = 1000 x 1.125 = 1125



Quantity II
C.P. for jobber = 24 — = x 24 = 21

4><21—80><MP
3 100 T
28 x 10

= M.P.= 3 =35

S5. Ans.(a)
Sol.
Quantity I:-

= MP = 1.4CP

Percentage mark-up = 40%

Quantity II:-

Total no. of people under 25 years of age = % X 60 = 24

No. of singers under 25 years of age = % xX20=4

No. of dancers under 25 years of age = 24 — 4 = 20
20

(40+20)

Percentage of dancers under 25 years of age = x 100 = 33;%

Quantity II < Quantity I

S6. Ans.(b)

Sol.

Quantity [:-

Fifth number=5x61-2x69 -2 x 69
=305-276

=29

Quantity II:-

Boys Girls
20 15
18
3 2

3 : 2

No. of boys = 2 x 20 =30
Quantity II > Quantity I

S7. Ans.(b)

Sol.

Sincex > 0andy <0,

Quantity 1 will always be negative because cube of a negative number will be negative.
And quantity 2 will always be positive

Hence, quantity 1 < quantity 2



S8. Ans.(e)

Sol. Let the speed of boat in still water be x kmph and that of stream be r kmph,
Then g =2

1
x _ 6

r 1
5X 7x —3 X 6x = 68
=x =4
Quantity 1: upstream speed of boat = 5x = 20 km/hr
Quantity 2: speed of Cycles= 63—0 = 20 km/hr
S9. Ans.(d)
Sol.
Quantity I:
Length of train

Time taken to cross the person = ,
Speed of train

_ 250
45 x =
18
=20 sec
Quantity II: .
Minimum time taken to cross the Rajdhani train = _Sum of lengths of trains -
Maximum sum of speeds of trains
_ 250 + 750
(45 + 135) x 118

=20 sec

~ Time = 20 sec
Quantity II 2 Quantity I

$10. Ans.(b)

Sol.

Quantity I:

Let the quantity of water and milk in the vessel C be x and 5x liters respectively

And, capacity of vessel C be 6x litres.
Quanity of water in fourth vessels 5

Quanity of milk in fourth vessels 16

_ . 20%o0f 5+40%of 15+30%of x _ 5
T720% of 25+ 40% of 30 +30%of 5x 16
=x=10

Capacity of vessel C = 6x = 60 litres
Quantity II > Quantity I

S11. Ans.(b)
Sol.

Let Mohit’s monthly salary be Rs x
~Manoj’s monthly salary = Rs 1.25x
Mayank’s monthly salary =x + 1750

333000
x+ 1.25x+x+ 1750 = 1
or,3.25x = 26000




_ 26000
X="3025

~ Mohit’s monthly salary = Rs 8000

Manoj’s monthly salary = 1.25 x 8000 = Rs 10000

Quantity I :The sum of Manoj’s and Mohit’s salary = 8000 + 10000 = Rs 18000
Quantity II :Rs. 20,000

Quantity II > Quantity I

S12. Ans.(d)

Quantity I :

Probability that the first ball will be of white color = - = =
Probability that the second ball will be of black color = g

~ Reqd. probability = 14—3 X g = %

. 6
Quantity II e

As L > 2
35 7 25
= Quantity Il > Quantity |

S13. Ans.(c)
Sol.
ATQ,

Quantity I:
Ratio of profit share
A : B : C
(4000x12) (6000x4)+(8000x8) (8000x9)+(6000x3)
24 : 44 : 45
Share of A = == x 56,500 = Rs. 12,000

Quantity II:
9100 + P = P<1+ 20 )3

B 100

= 9100 + P = 1.728P
or, P=Rs. 12,500
Quantity II > Quantity I

S14. Ans.(a)
Sol.
Quantity I:
1 man = 2 women
~ 8 men + 4 women = 20 women
4 men + 8 women = 16 women
20 women'’s 2 days’ works =§ = gpart
2

o 1
Remaining work =1 — 373

+ 20 women complete 1 work in 6 days
= 16 women will do %work in % X % = 5 days
Quantity II:5 days



= Quantity I = Quantity I1

S15. Ans.(a)
Sol.
Quantity I:22years
Quantity II:
Let,
Teena’s present age = 9x
Rakesh'’s present age = 10x

ATQ,
9x—10 4
10x—10 5
45x - 50 = 40x - 40
5x =10

Rakesh’s present age = 10x = 20 years
Quantity I > Quantity I1



